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RATIONALIST TALENT SEARCH EXAM 2019

STD:VIIl =mi:¢ Roll No.

Date of Examination : 10 February 2019, Sunday
Tdeneffardt geA / Guidelines for the Candidate

1. T99 Yftaehdict Te U9 SIS AT el Fasem Wt e s,
Please make sure that all questions are printed properly in Question booklet or
not.

2. U AT & TRET SHATERTE ek UTsieh! (e TeaT=! W hied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufet g& guangd fageneat crrean |yut el et svaredt 30 fafe iften ae quamm
BECH

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQR IYGRETRALE TRUT 100 T ST Tedeh TYHTS! 2 T[0T 37T
This question booklet contains 100 questions each question carries 2 marks.
5. ©d U9 AISiul STavash 3TE. Yehiedl ScIaege MaTeedl TN $Haeare! SRR T[0T Tl het
SATUTR AR,
All questions are compulsory. There is no negative marking.
6. oNUTATE T UG fERT oot Wl A T
Check to make sure that you have received the appropriate test booklet for your standard.
7. UATAHER hales Tehd Stal SNIsR AT, SNieR ISt Uhd

There is only one correct answer. Choose only one option for an answer.

8. eIl UH WIIUITaTS! eheles shiedl / THest T Sictu-=r o,
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........ccevvecrrceneennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

> @®OO®| [«x @GO W]
9. UReN HUCHTER gl ScUTIohT THALTERIEhE UXd Ul

Return the Answer Sheet to the invigilator at the end of the exam.

10. SATUET URET ShHTh TYTYREThar GEaT ToTgTal a Het TYgieceht URET ShicTaeiFaR e diad
11

Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




1, 3 | 2004 1 fiad SR 9War 38 @ 3 /= 2011 = fEasht vt ar /e ?

A) SHER B) Y& C) HT5aR D) &R
3" march 2004 was Monday. So What day was it on 3" march 20117?
A) Monday B) Wednesday C) Tuesday D) Thursday

2. WTEAtet STTSheta TRUT fohett FrehtoT 31

How many triangles are there in the following figure ?
A) 10 B) 20 C)31 D) 21

3. R RAYMOND = 90 , REYNOLD = 93, @ WILLSON = fereft ?
If RAYMOND = 90, REYNOLD = 93, then WILLSON =?

A) 104 B) 114 C) 94 D) 88
4. fiord 9 31Tk SEETA TSR I ATRA ?
A) T TS B) Istidl U C) Vekilehid | D) TEITHATYA T&H
Who is the governor of reserve bank of India?
A) Raghuram Rajan  B) Urjit patel C) Shaktikant Das D) Swaminathan Gurumurthy

5. SAtugTeal WRTt AT HEAt UHiTgd e,

Choose the correct alternative that will replace the question mark?

A) 121 B) 132 C) 146 D) 144

AT : WA 6 A 8 TP Ufgean Ugren go=aT Uil STE1 e g SFTG qar= day fow=an ugren <iean v
TFergTeen ST JuT=an UETHh ST @ W6 Hed Sk uaid Haer.

Note : In the following 6 to 8 questions there is certain relationship between the pair of terms on the
either sides of :: Identify the relation between the pair and find the missing one at the place of
guestion mark.

6. 123:41::234 7

A) 144 B) 541 C) 281 D) 116
7. NQTW : ? :: ADGI : KHEB
A) XURO B) ORUX C) WVUR D) ROWU

8.  Wol: WS i WMOR : ?
A) A= B) e C) gt D) 3




10.

Flower : Lotus :: Animal : ?
A) Tiger B) Lion C) Elephant D) Camel

WIeTieh! ThivTd Uaia faeiean O ST ier ATfeet guierard ?

1.7, sngaen, ad 2296, G, ThieR

3. Bl EorER, bt 4.31ma, =R, SR

5.@@, fien, argA 6. %30, Rl SiekeR

7 {37, HERTSE, gut

A)2,5,7 B) 2,5,1 0)1,2,3 D) 3,6,7

Which of the following options represents the information given in following Venn diagram?

1. Day, Week, Year 2.Table, chair,furniture
3.Doctor,Engineer,Advocat 4. Rectangle, Square, Triangle

5. Bus, Rickshaw, vehicle 6. Woman, Job, Doctor
7.Nashik,Maharashtra,Pune

A) 2,5,7 B) 2,5,1 C)1,2,3, D) 3,6,7
T SATHATIN FBUTH SAThelt U= Haet.

Select the answer figure that matches the question figure.

g 3T/ Question figure

N Y

I’ 3Tt/ Answer figure

N N, 7 N, A Ny, A o7 4




11.

12.

13.

14.

15.

16.

W U9 STt uroadier ufaan waft foae 2
Find the water image of the question figure given below.
9 TRt/ Question figure

FEAR

Kt corrotr o

I’ 3Tt/ Answer figure

o EEVE  JEVE  KEEV  KVEE
TeTd A SHUR US 35T,

Find the odd man out.

A) 982 B) 526 C) 310 D) 440
TETd 7 STEUIR Ug ST,

A) AES B) Segfitam C) TwTEe D) |ifeTm
Find the odd man out.

A) Iron B) Aluminum C) Grafite D) Sodium
TYATIETEAT ST SHET AU AT he.

Which of the option figures will replace the question mark?

9 ATt/ Question figure

I Hliﬁ'ﬁ/ Answer figure

WA HifeTohd SgATIRgTedl SR AUTHY SATehd (HareT.

Choose the correct figure which will replace the question mark in the series given below.
a9 GTIEE-ﬁ/ Question figure

I’ THAT/ Answer f-igure
A) B) p C) “y D) qv
AT TeATeRgTeAn SR AU e Faer.

Choose which number from the options will replace the question mark?
4, 20, 120, 840, ?
A) 6720 B) 980 C) 1040 D) 5780




17.

18.

19.

20.

21.

22.

23.

2T 7 THUM US 35,

A) et B) & C) FeTet D) TSR
Find the odd man out.
A) Cabbage B) Brinjal C) Potato D) Carrot

Teh! Hichfaeh Wiid BOMBAY=50, JAIPUR=180, LUCKNOW="7?
In a certain code BOMBAY=50, JAIPUR=180, LUCKNOW="?

A)253 B) 264 C) 276 D) 263
HHAHTAN TYATerTeal AR AR SATehdl et

Find the correct figure at the place of question mark in the figure series below.
9 ATt/ Question figure

Y PO [ 8
: s -4 - ] L] ?
(o] L ++ -4 + .

I’ TR/ Answer figure

o o '
A) B) C) of
WA T9 ATHATIN TGS S[BUTRI T (HareT.

Which of the following alternatives represent the exact replica of given question figure?
a9 3T|§|:F-ﬁ/ Question figure

<2 fe>
O

I 3kl / Answer figure

®. O
<Yo> o
<= <o
A) B)

Choose the opposite word of ISOLATION.
A) Inisolation B) Unisolation C) Enisolation D) Association

Choose the correct sentence pattern.
A) Subject + Object + Verb B) Subject + Verb + Object
C) Subject + Object + Compliment D) Subject + Object + Adverb

Choose the one which best expresses the meaning of the underlined part of the sentence.
After the family left about a decade ago, the house was abandoned.
A) Deserted B) Abdicated C) Relinquished D) Forsaken




24, Add a question tag.

It is simply a matter of reflection.

A) Doesn’t it B) Is it? C) Why is it? D) Isn’t It?
25. Select the pair among the given choices which is the exact antonym.

Disburse : Accumulate

A) Sermon : Homily B) Resonance : Rational

C) Embodiment : Ego D) Impetuosity : Velocity
26. Complete the following sentence with commonly used familiar noun:

He always tries to ......ccueuuu.e. a quarrel with someone or the other.

A) Organise B) hit C) Pick up D) None of these
27. Find odd man out.

A) Able x unable B) Do x undo

C) Favourable x Unfavourable D) Mortal x unmortal
28. Choose the correct alternative for the blank .

................ I He is dead .

A) Bravo B) Hurrah C) Alas D) Oh
29.  YZieA TEUT 9UT .
RO AT ..o

A) Teh{l SFOTh B) GeUt ANTURRIE ) Sharst Wiewret D) @ fermei=ht
30.  “UTOft U=l I TSR 312 Wil yEtE S Haer.

A) SCHATZHT g0t B) HTGR SUY C) Frewes sm D) AT91 ot
31, WIiicTdehl ‘e’ I ITegTel diF Uaial sRisR 319 Ueh U <eh 31T, Tl hiurai ?

A) UG B) %9H C) Afert D) Uehst
32.  STY[EY YISETHl UdT 3.

A) IrEie B) W C) Soutt D) fervmraTUEZI™
33. ‘RN AT IISETd URUT fehelt S0t 3TTa ?

A) | @ B) 3ThT C)gal D) T
34, ‘YRR A1 Ve ket veg whiotar ?

A) Tl B) Shaed C) AIHR D) 3R
35.  dTeTeI YRR 3T,

‘FAUTAT HROAH STHUR U A T FUATAIS HATI0T 37 AT

( - )
{1 ° J



A) e AT B) fsramer C) Eeharel D) 3Tzt

36. WYl
Solve.
lex3—8x* 4x?
16x2—16x+4 ~ 4x-2
4x2—2x 4 8x2—4x2 3
5x B)S OTexz—16x1a 23

37. 3 ST 9 240 S0 &= I 1440 AR, T Toh ST 720 S T A HE

RO ?

A) 480 B) 280 C) 140 D) 240

The H.C.F. of two numbers is 240 and their L.C.M. is 1440 . If one of the numbers is 720, find the
other.

A) 480 B) 280 C) 140 D) 240

38.  10% Temeis sraetet 120 foret g g 8% fememt setesn 200 forex gumea fiweer, ® fsgonde
gumed Vieha foedt femeron amR 2
A) 8.25% B) 9% C) 8.75% D) 8.50%

If 120 litres of milk having 10% fat is mixed with 200 litres of milk having 8% fat, find the percentage
of fat in the mixture by choosing the correct alternative.
A) 8.25% B) 9% C) 8.75% D) 8.50

39. 5000 foTex e Uk UTUST EiE Ueht 65T+ 8 ATEid Yuiul e, THATEA SHINTaYe 76 9 36
e o] utgen, @ druaren s1uea fehdt fotet stmem ?
A) 12000 ferex B) 960 ferex C) 400 ferer D) 1000 fetex

A tank of the capacity of 5000 litres is filled completely by running a tap for 8 houres. Due to
Unawareness of Ranjana, the tap ran for 9 hours and 36 minutes. calculate the waste of
water?

A) 12000 liters B) 960 liters C) 400 liters D) 1000 liters

40. 3 i HEeh W — 9T, e U e — orier, 7 gl T e,

-3 -9
The sum of two rational numbers is ? .if one of the numbers is % , find the other.

-3 -3 -5 -3
A) o= B)— Q5o D)—
20 10 20 5

3
41. mqmw;aﬁaﬁaﬁ 15 U ST YUt 31Tt 3R, JEAehT™ 49 UTH 101 STehl 3118, T YEaehrea
TeRUT U T ot ?
If %th of a book and 15 additional pages are read. 49 pages of the book are left to read. How

many pages does the book have?
A) 98 B) 110 C) 119 D) 112




42.

43.

44.

45.

46.

Teht fUvTelid 1%, 50 98 & 25 U9 =it A107 5:6:8 31 THIOTA SATEd. SR TUSTeidict Ushut WRRH 420 ©
T TR AT URUT G fehedt ?
A) 789 B) 798 C) 978 D) 987

A bag contains 1 rupee, 50, paise and 25 paise coins in the ratio 5:6:8 If the total amount is Rs 420
Find the total number of coins.
A) 789 B) 798 C) 978 D) 987

T TAATANHE Ueht TATH! ARG STai 5% Ul g 3. TuT 2014 Ael & clensea 8000
A, T 2017 TTCTH AT AREET fohet ?

Due to migration, the population of a village is decreasing by 5% every year. If it is 8000 in 2014,
then find the population in the year 2017.
A) 9261 B) 6800 C) 6859 D) 7220

) 1 _ .
24000 U 2.@1.E.90. 15 H 2 3 YT TAhATE — ST HIET .

A) 9327 T4 B) 9732 ¥UA C) 8000 U D) 9237 9
Find compound interest on Rs 24000 at 15% P.a. for 2% years.

A) Rs. 9327 B) Rs.9732 C) Rs.8000 D) Rs.9237
arrehdia LN €t Sien orgg faei oiieit 4 |t o1

m/ALM=45

W AM L LN @ 1((MN) et

A) 3 9 B) 4 Tt C) 5 Tt D) 2 |+
In figure LN is chord and its length is 4cm.
m/ALM=45°

Seg AM L Seg LN, find ((MN).

A)3cm B)4 cm C)5cm D)2 cm

W -8y-(y-5) = -13, My=7?
If -8y-(y-5) =-13, then y=?
13
A)2 B) 5 C)5 D)




47.

48.

49.

50.

51.

52.

53.

54.

TR 3 A1 T R T kA 1200 FU> S(0T 5 oAl @ 3 2aere fehAd 1900 TUR 318e @R 2 oAl 9

2 29 =it fehma forclt 30 2
A) 1100 T93 B) 1000 TU=x C) 900 TR D) 700 TU

If 3 chairs and 2 tables cost Rs.1200 and 5 chairs and 3 tables cost Rs.1900, then the cost of 2 chairs

And 2 tables (in Rs.) is..........
A) Rs.1100 B) Rs.1000 C) Rs.900 D) Rs.700

7 S B STEeedn Ut MEATa TS HRT S hiel.

A) 61.6 T’ B) 6.16 &’ C) 6168t D) TR A
Find the surface area of the sphere if its radius is 7cm.
A) 61.6 cm”? B) 6.16 cm”? C) 616 cm’ D) None of these

IR a U —, b IS +, ¢ TS +, AT d U x, T 15b3c24a12d2 = 2.

If a stands -, b stands for +, ¢ stands + and d stands x, then 15b3c24a12d2=">

5
A) 2 B) 5 C) 34 D)3
WTeAeTeh! ShIvTAt ST YUt O ATE.
Which of the following numbers are not perfect cubes?
A) 216 B) 1000 C) 128 D) 46656

Tt aeadinea WieieTdeh! ShIUTAT ST STEl ?

A) hefter B) STegfitam C) SI&d D) HAfvrEm
Which metal among the following is present in green plants?

A) Tin B) Aluminum C) zinc D) magnesium
ITel HITMER T 3T ?

A) &Xe5 SATIOT T B) &FTthe3, it SATTUT T

C) SFT%es, I ATTUT ATt D) HTU<h! ATE

Pressure depends on.............

A) Area and density B) area, height and density

C) Area, height and length D) None of these
fotamen W s, TAFEIATSS THIUT i ohid

A) e e B) EISIGRAIRG A C) TEThiNeh 3TFA D) \rIfeeh ST

............................ Present in the lemon juice acts as an electrolyte

A) Nitric Acid B) Hydrochloric acid C) Sulphuric acid D) Citric acid
155 £ RN FAT HISTHTIA T h& ITehd ATRId.

A) T /€U B) g& C) fata o= D) A
Sound con not travel through

A) Solids B) Liquids C) Vacuum D) Gases




55.

56.

57.

58.

59.

60.

61.

62.

63.

TERTIT T4 @ Sh9TTe! Usheh 3T ?

A) 95 SRIG C) 3T

Light year is a unit of:

A) Time B) Speed C) Distance
WIGITUeh! 4T ShHIUTT ?

A) ThTeA B) aAitera C) wig

Which one of the following is a metal?

A) Carbon B) Oxygen C) Iron

Uilieh Hothed YU hivTd ?

The molecular formula of ferric Sulphate is....

A) FeSO, B) FeSO,4 C) Fez(SO4)3
3.9 1803 WA ..o T Y STUITHEHTd HigaT.
A) ST STeeA B) HawIS C) I . e
INn 1803 A.D. v, put forth his atomic theory.

A) John Dalton B) Rutherford C) J.J. Thomson
WRATAISA Ufget! HUHES! ShITT ?

A) T B) ©I=T8 C) |0
Name the first Nuclear reactor in India ?

A) Norora B) Chennai C) Apsara
TR e °C AuHTe 2 SraRdd S
Thermocol melts at .............. °c.

A) 850 B) 1500 C) 120

e gedre o fehdt STed ?

A) 100 | B) 200 IH C) 300 I\
The weight of the human heartis ..................

A) 100 Gms B) 200 Gms C) 300 Gms
WeAIeTdeh! ShIUTAT AT W9 IR THTRA 2rd =18t ?

A) feremser B) <hIels C) ST
Which of the following disease is not transmitted by house flies?
A) Typhoid B) Yellow fever C) Cholera
NDREF = feramfia ®u shivrd 2

NDRF Stands For
A) National Disaster Resque Force

D) ITU<h! AT

D) None of these

D) A Tt B Srgt

D) Both A and B

D) Fe; (SOa)2

D) SATU<hR! AT

D) None of these

D) 9

D) Sapttara

D) 100
D) 400 T®

D) 400 Gms

D) arfaEr

D) Dysentery

B) National District Response Force

C) National Disaster Response Foundation D) National Disaster Response Force




64.

65.

66.

67.

68.

68.

69.

70.

HEATGIT GEAWH! 10T ATEA ?

A) Prerafeg =iEm B) 3T9Tieh Tgeta

C) /T D) GfM UrIete

Who is the Chief minister of Madhya Pradesh ?

A) Shivraj Singh Chouhan B) Ashok Gehlot

C) Kamal Nath D) Sachin Pilot

Viekiehid I 2 fEteg okl fohaal TTegai o 2

A) 253 B) 269 C) 2439 D)277
Shaktikanta Das is the ................. Governor of Reserve Bank of India.

A) 25% B) 26™ C) 24" D) 27"
TSI <1 T hIUTAT ?

A) TTEE IS B) faxan C) et D) AufeRdl
The colour of iodine is :

A) Violet B) Green C) White D) Brown
WRATe GE&a fasuysh e vt eiga ?

A) et 3R B) M. Wt.Trad C) 3. 0E. | I D) IR ATE

Who is the chief election commissioner Of India ?

A) Sunil Arora B) O.P.Rawat C) J.S.Saharia D) None of these
2020 T AU TALT hid TR AT ?

A) 9= B) #iid 3T <Ted C) Siferan D) fafsm

Where is the 2020 Olympics games going to be held?

A) Paris B) Los Angeles C) Tokyo D) Beijing

AT LS TS he IS AT ?

A) faeaagm B) TR C) wAIRET D) sfigdt <hre

Where is the Satish Dhawan Space centre located?

A) Thiruvanthpuram B) Banglore

C) Florida D) Shrikota

TRl YA shivuT 3Td ?

A) TUH & SEEIS R C) Teee gelt D) FiewahR 3Tet Heat
Who is the Prime minister of Pakistan?

A) Imran Khan B) Nawaz Sharif C) Bilawal Zardari D) Zulfikar Ali Bhutto
AT MIA VT QAT Heferd 3R ?

A) There SECEIS] C) gkt D) Siefirea

Neha Goyal is associated with which Sport?

A) Cricket B) Shooting C) Hockey D) Badminton

10
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71.

72.

73.

74.

75.

76.

77.

HARATE YEe SATITHE AT 0T AT ?

A) Tersrn f&m B) fafom W C) 3T&Y TR D) gefer f&m
Who is the Head of the Indian army ?
A) Vikram singh B) Bipin Rawat C) Arup Raha D) Dalvir shingh

“HIEA TP g AT ShIUT=! T8 ?

A) gEfert B) ®eAwe C) SHHTTITIN D) 3TSTew fdeer
‘Mein Kampf’ is the auto biography of ............... .

A) Mussolini B) Ruzvelt C) Kamalpasha D) Adolf Hitler
HERTSSTE Taid A forgamdis wivr ?

A) Brarsh foeamdis ) geE faeamdis C) yut freumdis D) Wgarel faeudis

Which is the oldest universlity of Maharashtra ?
A) Shivaji university B) Mumbai university C) Pune university D) Marathwada university

Rrevide ags = B

A) FETERTeR B) WISRH C) Fraeen D) UT=rTORt
................. is a hill station in vidharbh.

A) Mahabaleshwar  B) Matheran C) Chikhaldara D) Panchgani
................... T HATYUT TEHA Thell HgRIH FgU 5@l ?

A) SIS fZRTST STUTIeR B) TUTes Et ST

C) feerra ST e D) USTT&RTE IS 9T
................. is known as rashtrasant Tukadoji maharaj.

A) Debuji Zingaraji Janorkar B) Gopal Hari Deshmukh

C) Dinkarrao Shankar Jawalkar D) Panjabrao Shamrao Deshmukh

FfereT SFIEA GO HIH B hid o TI16Teh it ?
A) getet Mg B) RIS THIT
C) \ETER f&m wre D) gelw=n f&m

Name the coach of boxing champion super mom Mary Kom.
A) Pullela Gopichand B) Nagapuri Ramesh
C) Mahavir Singh Phogat D) Ibomcha Singh

T TH, 3T 3. U

A) Efeom wRem e siftamagiom

B) sfeam 0w T aifriarargie

C) T T et sitiArrEve

D) SeHIHH Arifefther fa TR
I.S.R.0. Means :

A) Indian States Research Organization
B) Indian space research organization

11
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78.

79.

80.

81.

82.

83.

84.

C) International Space regional organization
D) International Scientific research organistion.

[T JEAHETH! FHUTGh hiUT SHEdTd ?

A) TSIUTA B) Tyt C) ST D) AT TATAER 9T
Who appoints the chief minister of the state?

A) Governor B) President C) Vice President D) Chief justice of India
WRATA AT AR ..evvvenennnn.. AR.

A) gAYa TR B) THTHAYIR /Aenteh 1fererr

C) =afiteR feeRR D) Haenfeh AR

The right to vote in India is

A) Fundamental Right B) Legal Right

C) Natural Right D) Constitutional

TERTE TST HRTIEERT SR IS8l ShiuT SIgd ?

A) 71,09, 5.2 B) =TI TS

C) =50 <1 R U D) 7I1.TH. 5 MIehaTS

Who is the president of Maharashtra state backward commission ?

A) Justice S.B.mahse B) Justice Ranjan Gogai

C) Justice B.G.kolse patil D) Justice M.G.Gaikwad

HITE Ufgelt Afgen AeTet vt ?

A) e Teht B) gfawr mith C) Si.UHaEe D) TR Areg.
Who was the first women president of congress ?

A) Sonia Gandhi B) Indra Gandhi C) Dr.Annie Besant D) Sarojini Naidu

“Feanel TeRTer 1 U i fAfgern ?

A) T foaehTg B) WrsgHd qehaiSTl HgRIS

C) HIeTHT 31ge D) T IS At

Who wrote the book ‘Satyarth prakash’ ?

A) Swami vivikanand B) Rashtrasant Tukdoji maharaj
C) Maulana Azad D) Swani Dayanand Saraswati

1929 <A1 AER HiTE ARG 31eAT VT g ?
A) TEEATA & B) SI.UH aigie C) AT Ig& D) GHTS=g S

Who presided over the Lahore session of the congress in 1929 ?
A) Jawharlal Nehru  B) Dr. Annie Besant C) Motilal Nehru D) Subhash Chandra Bose

‘WTTET WISl TATGHT ShivT Shefl ?

A) TeTiferg fem B) & TSI C) & S7TE D) HERIST T0TSHA T&rT
Who founded the khalsa army ?
A) Guru Govind singh B) Guru Arjun C) Guru Angad D) Ranjit Singh Maharaja

( 1
L 2 )



85.

86.

87.

88.

89.

90.

91.

92.

“Hel 9T’ S AT AT HIUTAT TR ST ST ?

A) S FE B) 1S frefima afdss

C) TS et D) IfE hHaTAIE

The credit of banning sati or Widow burning goes to.............

A) Warden Hastings B) Lord William Bentinck

C) Lord Wellesley D) Lord Cornwallis

icTere THIAST UTE SITeTT degl WRATS! SETSER vl 3 ?

A) I8 e B) wte fifegm C) IS Trawhe D) e AegeA
Who was the viceroy of India when the rowlatt act was passed ?

A) Lord Irwin B) Lord Reading C) Lord Chelmford D) Lord Wavell

TR TEYAH HeaRIETe GEarTd hivrea fSehmft et ?

A) TOROT NEEE C) Sheteheal D) a1t
In which place did satyagraha first started by Mahatma Gandhi?
A) Champaran B) Baroda C) Calcutta D) Dandi

1857 =1 33TETd WRATS! Teg- ST <hIUT gd ?

A) TS AeTA B) TS hHAT®  C) THIS Sh{-Tl D) ¥ H &
Who was the Governor General of India during Indian Rebellion of 1857.
A)lord Wellesley B) Lord Cornwallis C) Lord Canning D) James Broun

AT Fleauien FHUTa shivTean Sgree™ A udet ?

A) Ate fom B) TITS STl C) e et D) TS haiA
Which viceroy of India take the decision of partition of Bengal ?

A) Lord Ripon B) Lord Wellesly C) Lord Minto D) Lord Curzon
fereTea e FHaTa et Sel ?

A) 1913 B) 1921 C) 1927 D) 1919

The khilafat movement was started in the year ?

A) 1913 B) 1921 C) 1927 D) 1919

‘ara o FceTe” § Heheut vl Aigel ?
A) 3T B B) HESd 3T §h C) A smifor B D) 3Rfag UARTII

Who put forth the concept of human development Index ?

A) Amartya sen B) Mahbub Ul hag C)AandB D) Arvind Panagariya

National Physical Laboratory of India € &% %I 31 ?

A) Ha8 B) 7Teit faeett C) SheTehedl D) ¥euag
Which city is the National Physical Laboratory of India located in?
A) Mumbai B) New Delhi C) Calcutta D) Hyderabad
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93.

94.

95.

96.

97.

98.

99.

100.

A FEetEE B Rem c) Frairezen D) Sreeierg=Ierd
.................. type of clouds are indicators of storm.

A) Cumulonimbus B) Cirrus C) Nimbostratus D) Alto Cumulus
Figult hetean AH-ITRt Td Wi HEde TS oo T HATEUAT A2l Id
A) OTAERN 3d@ B) fiesera u= C) Ma AT -7 D) IR ATE
All the information about the registered land can be obtained from the revenue department in the
......................... Extract.

A) 7/12 B) Property card C) village form No-7 D) None of these
WA eTUh! AIHEEAAT fIaRuTeR TRUMH 0T ... ............. 21 3Tl T A

A) GG B) AIRUS

C) TSTRIA £TRUT D) AR

Which of the following is not a economic factor affecting population distribution.
A) Industry B) Markets

C) Government policies D) Urbanisation
ONGC = Yui 97 ShivTd ?

What is the long form of ONGC ?

A) Oil and national group of companies B) Oil native group consumption

C) Qil and natural gas company D) Oil and natural Gas corporation
WA IcTueh! ShIUTeT ITEATA HIfge AT She AT ?

A) T feeett B) ¥gTee C) At D) STg&

Which of the following cities is not an It centre ?

A) Old Delhi B) Hyderabad C) Noida D) Bengaluru
Wil hIvTe TeaTd faemafivg g ?

A) ST SHIFHR B) HIUTQR C) T=TEA D) Than

Which of the following state has legislative council ?

A) Jammu & Kashmir B) Manipur C) Rajasthan D) Goa
WRAT YT AN hIUT AT ?

A) U9 B) TSIUTA C) Trsgut D) G&A —reten
Who is the first citizen of India ?

A) Prime minister B) Governor C) President D) Chief Justice
WcAIeTdeh! shivTd W2 BRICS o 96 A& ?

A) NRA B) forem C) Tomm D) gferut sniftkert
Which of the following nations is not a member of BRICS ?

A) India B) Britain C) Russia D) South Africa
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